- v T

"'b?‘?t.""g __'M‘ —_— Wuyﬂ»( '.u‘ljdﬁﬁ")

K Neoret

N u'el:\foou e (ke 1\\'0)
~ Ut PG )

T—fou'm'vﬂ Tivee b(\)

O Didlnce b ket date Yoink & oML dbe  ANoMig  dote

@ DS, govid Sy anowg-

— Sl 2
Elﬂﬁu \o
(® * g
Uy =7
Mox

5 mpry Uk ket das oot
«

Trodnly Tine < 0(1)

b i
T Tive: 'Ylvv "I’

dutionte S-T m



A factory 1s producing papers. The quality control unit applies two types
of testing (durability test and strength test) to assess paper quality. The
data for the same 1s given below:

Table I1I
S. No. 1 2 3 4 ) 6 7 8
Durability | 7 6 7 6 3 1 4 3
Strength 7 4 4 5 4 4 3 5
Quality | Good | Bad | Good |Good| Bad | Bad |Bad| Bad

Use k nearest nelghbor (KNN) w1th k =1, and 3 to predlct the quahty

of a new paper (durability = 5, strength = 5)
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Day Outlook | Temp | Humidity | Wind | PlayTennis
D1 Sunny Hot High Weak No
D2 Sunny Hot High Strong No
D3 Overcast | Hot High Weak Yes P(a =\/C-S> = _ﬁ_
D4 Rain Mild High Weak Yes VA
D5 Rain Cool Normal Weak Yes
D6 Rain Cool Normal Strong No
D7 Overcast | Cool | Normal | Strong Yes P (hc No) s i
D8 Sunny Mild High Weak No ‘L‘,
D9 Sunny Cool Normal Weak Yes
D10 Rain | Mild | Normal | Weak Yes
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